FR 25-RL
BRISTVAD B E R

\L@

10...30v DC
C€

a»
F8 25-R-Ms e
Pl0

Sn=12m
P3812

-t

&
- i

o JUHE AR B BN H
A IANF I SR
BT 23 DL A BN e B
e 3 ot A e A AR A SR AR AT W
PIE LT Yl s R RS e

HFSH eESREM
A% PR T A 1...15m' LEDf&/RAT, % EHIREER
TAEE 1...13m! LED{S AT, e LS
JeIRTY LB EOE, 650 nm RPUE AT T 3l R e R N 4% 1 2
FEHER N VL= B3k it U R PR 1 B
WA 1 A2 BT
(DIN EN 60825-1:2008-5) n W E T o e B AR N A T R T
P H S i FE AT 1]
S A N A% 1 28 SR
BN E e R ARG RO T

BSSH WS
TAFRIE, +U, 10...30 VDC? SR 3420 x 12 mm’
THA, 1 <30mA B 55 4% IP 69K & IP 67*
W B, Te <100 mA HhEI R ABS
R4 v i HLER I R0,/ FEHEREAD(Q) i T AR L PMMA
B 4145 2% 2 e GG TIES)
JH B HER <300 ms T ARSI 20 ... +60 °C’
JFRERH, Q PNP/NPN (¥ ILiE# 51 %) Gl B I 20 ... +80 °C
Tt Dag N.O. CHFF) /N.C. CH D EE D 10g
FEIIMES (ti/tp 1:1) <2000 Hz Hig (EEEEAO 10g
LAl 250 us R (LS 40g
AR, IN° +U, = it (SRR 20g

- U, = f58iE i A A EN 60947-5-2

= IEHIBT

' BEMEL: RS/LROGHT 2 AEU G o VF10%01%% )~ 50 Hz/ 100 Hz 3 0G&E F T-4-41 i L2880 b0 45 B A5 R D TP 67 / TP 69K 142 11

SUL:-20 ... +50 °C ¢ TLEcolab
<= = & T4

TiEEE FXBRE xR FrRES iTERS
1...13m PNP SR, M8 x 1, 3-4F FR 25-RL-PS-M3M 609-31000
1...13m PNP SEED, M8x1, 4-4 FR 25-RL-PS-M4M 609-31001
1...13m NPN SBEEN, M8x1, 4-%F FR 25-RL-NS-M4M 609-31002
1...13m PNP &Y, 2m, 4-%4 FR 25-RL-PS-K4 609-21004
1...13m NPN &4, 2m, 4-%% FR 25-RL-NS-K4 609-21001
1...13m PNP LN 150 mm (15 MS, 4-5F 3D FR 25-RL-PS-KM4 609-21016
1...13m NPN FRLL: 150 mm (BEMS, 4-5FH0E1ED FR 25-RL-NS-KM4 609-21017
1...13m PNP ERLESE: 150 mm (BEMI12, 4-%F 18100 FR 25-RL-PS-KL4 609-21006
1...13m NPN FERLLL: 150 mm CELEMI2, 4-80E0D FR 25-RL-NS-KL4 609-21003

280 www.sensopart.com




(I SENSOPART

EMEFBERIE HAERERTE

) 20 ) 20
12 Teach-in 26 12 Teach-in 26
LED 2| 1 |~LED1 LED 2 _/ | -LED 1
B — ~ N | — ~ N
\J/ \J
Receiver Receiver
3 < @ 3 < b
8 | Emitter ¢ 8 | | Emitter__y
- | = - | 3
~ mI I 1 " ~ mI 1 i
© [
3 = = =
1 3.2 3.2 =
M8x1 3.5
153-00937 ?is_ 153-00936
EE 45t BEE 35t
—1+U; 1 BN NPN ju. NPN
+ —
IN 2 WH
- Q 4BK PNP
0
Q 4 BK PNP n
T o
-U, 3BU ﬁ -Us 3BU
154-00312 154-00311
4o, - Moy
[ S e S e KRR E
30 20
15
£ 20 =
8 £
@ 5 10
2 8
3 N
X (7]
w 10 N
\ 5
0 \
0 3 6 9 12 15 00 5 10 15
MK RS/L RIGH Distance [m] 155-01390 Distance [m] 15501391

RFHRTEEEFETE) TFeE

RD-25 KL 0.15...1m

B+

SR A-18
234 A-34
B L A-4

www.sensopart.com 281



